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B R e B#EGC 36 36 72
EEEH Ht —E mECC 38 36 74
3 AR Ei#EGC 38 38 76
4 EAZK #HHCGC 39 39 78
5 Hil &5 #kce 39 40 79
6 tEEF #HHCGC 36 43 79
7 IR Ei#EGC 39 41 80
8 HPRA fice 39 41 80
9 wnK aE AFHCC 42 39 81
10 [REA Kz =[gECcc 36 45 81
11 KfF &7 EJECC 43 39 82
12 FE#& BRER 59LEB 41 41 82
13 JIE &K #skcce 40 42 82
14 RE—5 AfcCC 39 43 82
15 FHHAR f&lGe 46 37 83
16 =M #7 =[gECcc 44 39 83
17 #EE - fg1luce 42 41 83
18 EH& & fEce 42 41 83
19  ug #X =J®cc 41 42 83
20 Ei5EfT 5FLE 40 43 83
21 &F BT AFCC 43 41 84
22  Foh —H Ei&cc 43 41 84
23 ik EF EX=%kcc 43 41 84
24 ELFIAR AFCC 42 42 84
25 EF RE BEGC 42 42 84
26 QR EW =[gEcc 42 42 84
27 AW E— flce 41 43 84
28 f@BEEAE= FERCC 41 43 84
29 @A EA flce 41 43 84
30 SH—B fElGe 41 43 84
31 RBHEg =J®cc 41 43 84
32 EIEE #skCcC 40 44 84
33 AR EE =JRcc 39 45 84
34 kEZ fElGe 39 45 84
35 HEE EA #HHCGC 37 47 84
36 & ET FERCC 45 40 85
37 aE 5TLE 44 41 85
38 HE#®— RECC 43 42 85
39 EHMRE EEGC 43 42 85
40 )i BARR f&wce 43 42 85
41 FIEH= skCC 42 43 85
42 FTHEH# fce 42 43 85
43 tHE*:HA AFCC 42 43 85
4 BEY =[gECcc 41 44 85
45 =)l 4 Ei#GC 41 44 85
46  <PRE A =[gECcc 41 44 85
47 &M@\ &— EiEcc 40 45 85
48 /R HE 3FLE 47 39 86
49 Ht FE fEce 45 41 86
50 #&HE BE =[Ecc 45 41 86 LEFREBR
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51 =I5 F3 E#ECcc 43 43 86
52 #AH B #mcGe 43 43 86
53 KB E#Ecc 42 44 86
54 B[R EM STLE 41 45 86
55 =& —&f f&ice 41 45 86
56 AHE =% f&ice 40 46 86
57 R8I EHK Ei#GC 44 43 87
58 HEE mECC 44 43 87
59 /pHEHER B— Eiicc 43 44 87
60  BEHE =A #HHCGC 43 44 87
61 #E & BEGC 43 44 87
62 EHHEF EHEGC 42 45 87
63 M5 K& falice 46 42 88
64 RRXH EHEGC 45 43 88
65 LH i E®BGC 45 43 88
66 WH 2% #KCC 44 44 88
67 il %8 mECC 44 44 88
68 IRH BE mECC 44 44 88
69 5HE F=M E+=&CC 44 44 88
70 HE#% E#EGC 43 45 88
N BERE-—% RECC 43 45 88
72 BB EZ EEGC 42 46 88
73 |EE Eik fgiuce 42 46 88
74 fHZ RECC 48 41 89
75 /NI IERY AFCC 47 42 89
76 MR B f&lice 46 43 89
77  |lLF% &A AFCC 46 43 89
78 i FE f&ce 45 44 89
19 |EEW EE faluce 44 45 89
80  #A)I EX E#EGC 44 45 89
81 ik #1T Ei#GC 43 46 89
82 HREX FERCC 43 46 89
83 A FHER =[RCcc 43 46 89
84 AE1EE =):Yelo} 42 47 89
8 EB&AEL RECC 42 47 89
86 AT Ef 3FLE 47 43 90
87 /M RRth =[RCcc 47 43 90
88  E AR E#EGC 46 44 90
89 RMfEFE— sk CC 46 44 90
90 IRAME =):Yelo} 45 45 90
91 {EH XA f&lce 45 45 90
92  BEHE KM Ei#GC 43 47 90
93 AB EE Et+=&kcCC 47 44 91
94 M 4083 E#Ccc 46 45 91
95 K =%5 Eicc 45 46 91
96 =HER #mikce 45 46 91
97 MR mE =[|Ccc 45 46 91
98 Al EA EHEGC 45 46 91
99 KM EHE=E FERCC 44 47 91
100 KRE xR 3FLH 43 48 91
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101 B5 & PER 46 46 92
102 5@ #E ERCC 44 48 92
103 A5 # E#ECcc 44 48 92
104 =48 EfT ACC 43 49 92
105 R #& AFCC 48 45 93
106 Fb#t 2 5FLH 48 45 93
107 |FW $tA 59LEB 48 45 93
108 EMB#HE #HHCGC 47 46 93
109 o3 & #FTHCGC 47 46 93
110  #&E EE E&GC 44 49 93
111 |[EXF #H 59LEB 43 50 93
112 (L@ o8] fElce 50 44 94
113 [#lEA #&lGe 49 45 94
114 FERES =[Rcc 47 47 94
115 | F5 #ith f#&ce 47 47 94
116  MiE B =[gECcc 47 47 94
117 |H) EF AFCC 44 50 94
118 | =h &5 AFCC 44 50 94
119 %M@ EiE #HHCGC 54 41 95
120 MWiE &z AFCC 48 47 95
121 |FEE %k 5FLE 47 48 95
122 #H =R fEce 49 47 96
123 (%50 BE EEGC 49 47 96
124 REgEmR= fElGe 48 48 96
126 |HE & 53Le 46 50 96
126 4t BEE f&Ece 52 45 97
127  BEH B FmCGC 43 54 97
128 #tEx #HHCGC 50 48 98
129 fElLBE sk CC 48 51 99
130 %7 #238h 5FLE 46 53 99
131 |37t B =[Rcc 54 46 100
132 H#E RF #HHCGC 48 52 100
133 &M {57 EiEcc 45 55 100
134 E=H M= EEGC 44 56 100
135 |HR 57 f&ce 53 51 104
136 &Il EEX 5FLE 52 56 108
EiE it =RcC 0
RIE o5k fElice 0
EiE TH 3 f&ce 0
XE EH=Ez fElice 0
=€ IFEL ACC 0
Ri% EE FE 59l 0
& LV L PEL 0
R\ EEE EBEGC 0
& BTl fElice 0
XRI\ HENE EEGC 0
Rijp KB BE EEGC 0
RIB kR fEllGe 0
& BP =[Rcc 0
R 0EN AFcCC 0
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RIg N Bt EEcc 0
RiF B Ei#EGC 0
R HE wH 5¥Lb 0
RiF T FIER =[Ecc 0




